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α&e−2tu(t − 1)

β&u(t2 − 9)

γ&∏( t−2
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α&ejπt−1

β&sin(t) + cos(
√

2t)

γ&2cos(120πt + π/3) + 6cos(377t)

δ&cos2(2t − π

3
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α&x(t) = cos(5πt) + sin(12πt)

β&x(t) = cos(4πt)sin(3πt)��85�)*)3.������� �!��")*)!*, 7-���
α&∫ ∞

−∞

(t − 2)2δ(t − 2)dt

β&∫ 5

0
cos(2πt)δ(t − 1/2)dt 9



γ&∫ ∞

−∞

t2δ̇(t − 2)dt

δ&∫ ∞

−∞
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α&y(t) =

x(t)

1 + x(t − 1)

β&y(t) = etx(−t)

γ&y(t) = ẋ(t)

δ&y(t) =

∫
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α&y(t) =

1

τ1 + τ2

∫ t+τ2

t−τ1

x(τ)dτ

β&y(t) =

∫

∞
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p(t − τ)x(τ)dτ +
N

∑

i=1

αix(t − ti)
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α&x(t) = u(t − 1), h(t) = u(t) + dδ(t−1)

dt

β&x(t) = eatu(t), h(t) = eβtu(t)FG<����������� ���7����α 6= β!��α = βF
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h(t)=2e−2tu(t) x(t)=u(t)−u(t−4)
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h(t)=u(t+2)−u(t−2)

t

x(t)=u(t)−u(t−4)
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